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INSTRUCTIONS \

Candidates should read the following instructions ¢ before answering the questions:

1. This booklet consists of 24 pages inclu this front page, containing 100 questions. Verify the
Page Nos. and Test Booklet series e and bring at once to the Invigilator’s notice
any discrepancy. -

2. Answers will have to be gi@ cial Answer-Sheet supplied for the purpose.
\ 5

3. Before you proceed to miarki
you have to fill in son
result in error in your

wer-Sheet in response to various items in the Test Booklet,
ulars in the OMR Sheet. Do not fold the OMR Sheet as this will

4. All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the
OMR Sheet with Black Ball Point Pen.

5. One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer. If more circle is encoded for a
particular answer, it will be treated as a wrong answer. Use of whitener is strictly prohibited.

6. There will be negative marking for wrong answers. 0.25 mark for each wrong answer.
7. There are blank pages at the end of this Booklet for Rough Work.

8. The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the
Examination Hall. You are not allowed to take away the used Test Booklet after completion
of the examination.
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1. Which one of the following is not a
greenhouse gas?

(A) CO,
(B) CH,
© 0,

(D) CFCs

2. Which one of the following was published
by Raja Rammohan Roy?

(A) Sambad Kaumudi
(B) Hindu Patriot
(C) Sandhya

(D) The Enquirer

3. The brain of human body is responsible for
(A) Thinking
(B) Regulating the heart beat
(C) Balancing the body
(D) All of the above

4. Who is the present Chief Justice in the
Supreme Court of India?

(A) Ranjan Gogoi
(B) N.V.Ramana

(C) Dhananjaya Yeshwant Chandrachud
(D) Nene of them

5. Which Mughal Emperor took the title of
*Alamgir’?

(A) Akbar

(B) Jahangir
(C) Aurangzeb
(D) Shah Jahan
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.. 6. The time at which a sum of Rs, 1,600
becomes 1,852.20 atan annual rate of interest 20%
compounded quantity is

(A) 3 months
(B) 6 months
(C) 9 months
D) 12 months
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7. Five years ago, the father’s age was 8 tifnes
that of his son’s age. Five years hence, the sum of
their ages will be 65 years. Father’s present age is

(A) 50 years PR

(B) 40 years ;

(C) 45 years

(D) None of the above
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8. The denominator of a fraction exceeds its
numerator by 4. If both the numerator and

denominator are increased by 3, the new fraction

4
becomes —.

5 The original fractionis .’
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9. The circumferences of the front and rear
wheel of arail engine are respectively 140 cm and
350 cm. The least distance to be covered by the

engine so that both the wheels complete their fulll

rotation simultaneously is
(A) 1400 cm
(B) 700 cm i
(C) 1050 cm

(D) 980 cm o
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10. In ancient India Gandhara art flourished
during the reign of
(A) Ashoka
(B) Kanishka
(C) Harsha Vardhana
(D) Dharmapala

11. The age of a man is twice the sum of the
ages of his two children. After 20 years, his age
will be equal to the sum of the ages of his two
children. The age of the man is

(A) 35 years
(B) 45 years
(C) 40 years
(D) 50 years

12. Methanoic acid is present in the
(A) Sour milk
(B) Tamarind
(©) Orange
(D) Antsting

13. Which among the following statements is
incorrect about Gandhiji?
(A) He supported separate electorates.
(B) Heled Dandi March.
(C) HestartedNon-Cooperationmovement.
(D) Heattended Round Table Conference.,

14. The average weight of some number of
students is 55 kg. Among them the average weight
of 20 students is 60 kg and that of the rest of the
students is 51 kg. Total number of students is

(A) 54
B) 52
(© 48
(D) 45

A-4

10. &iibin S1TS st R Refie wafe @
(A) S
(B) sfiw
(©) =d
(D) &feitsy

11. ¢35 IfET T OF R @FA-GET TWER
TR R | 20 Ie7 7 O I LA LT (IET
TR T A | €8 Ffew a3 7 )

(A) 352gq ’
(B) 4537
(C) 40 9=z
(D) 50 ="

12, FaFife w0 Qi
‘ (A) BF
(B) (&g

(C) TV
(D) fo¥siton em

13. p7 Rfoofin g @Rk T8iR

- S we '

(A) o (rema o) Ffsemod
R 79 Faren

(B) foi oifs st crog fafim |

(©) of r=mat wiTHIeeE @i
AR |

(D) foR et tasna ctomin aciteEm |

14, RgRATRICTS oG & 55 R | Sl g
2073 51 G860 (i R A RIAE oG T
51 fer 1 otegEr (b wioa et

(A) 54
(B) 52
(C) 48
(D) 45



.- 15. The ratio of two liquids A and B in a
mlxture is 2 : 3 and thatin another mixtureis 5 : 4.
To get the equal quantity of the liquids A and B, the
required ratio of the two mixtures is

(A) 3:7
(B) 4:9
(©) 6:11
(D) 5:9

!
g 16. Thenumberofbiggest squared—shaped stone

required to cover a rectangular area of sides 45 m
and 33 mis

(A) 175
(B) 165
(C).155
(D) 145

17. A fruit vendor buys certain number of
bananas. If the selling price of 5 bananas isequal
to the cost price of 6 bananas, then his profitor loss
percentage is

(A) 20%
(B) 25%
(©) 15%
(D) 30%

18. A bag contains of rupee 1, 50 paise and
25 paise and the ratio of the values of the coins is
4 : 5 : 6. Then ratio of the numbers of the coins is

(A) 3:5:7
(B) 2:5:12
(C) 2:5:9
(D) 2:3:10

19. Who took the title of ‘Vikramaditya’?
(A) Chandragupta I
(B) Chandragupta II
(C) Chandragupta Maurya
(D) Samudragupta
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20. The sum of two numbers is 150 and their
H.CF. is 15. The numbers are

(A) 60,90
(B) 30,120
(C) 75,75
(D) 45, 105

21. Who wrote ‘The End of History*?
(A) Michel Foucault
(B) Francis Fukuyama
(C) Sigmund Freud
(D) E.H. Carr

1
22, Amancoversadistance of 24 kmin 3 5 hrs

partly on foot at a speed of 4.5 km/hr and partly on
bicycle at a speed of 10 km/hr. Then the man
covers the distance on foot is

(A) 10km

(B) 9km

(© 11km

D) 12km

23. Inaflood relief camp there was a provision
of food for 1000 people for 100 daysyafter 25 days,
250 people went away elsewhere. Number of days
the remaining food lasts for remaining people is

(A) 100 days
(B) 90 days

(C) 200 days
(D) 160 days

24. Aparnahasenoughmoneyto buy 36 oranges
atarate of Rs. 4,50 per orange. Number of oranges
she buys when the rate per orange is increased by
90 paise is .

(A) 30
(B) 27
(©) 33
D) 36
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25. A policeman starts to chase a thief. When
the thief goes 5 steps, the policeman moves 6 steps.
Again, 3 steps of the policeman is equal to 6 steps
of the thief. The ratio of the speeds of the policeman
and the thief is

(A) 12
(B) 11:
©) 12:
(D) 12

1
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26. In which year National Human Rights
Commission of India was established?

(A) 1990
(B) 1993
(C) 1947
(D) 2000

27. Who among the following won Ramon
Magsaysay Award?
(A) Ashapurna Devi
(B) Anita Agnihotri
(C) Mahasweta Devi
(D) Bani Basu

28. Sardar Sarovar Dam is built'in the river
(A) Mahanadi
(B) Narmada
(C) Chambal
(D) Chenab

29, Ratio of three positive numbersis2:3:5,

sum of whose square is 950. Then the numbers are

(A) 2,3,5

(B) 8,12,20
(C) 10, 15,25
(D) 12, 18,30
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30. Who among the following published-“The
Kesari’?
~ (A) Mahatina Gandhi
(B) Bhagat Singh
(C) Balgangadhar Tilak
(D) B. R. Ambedkar

31. A number of two digits exceeds four times
the sumr of its digits by 6. It is increased by 9 on
reversing the digits. The number is :

(A) 45
(B) 43
©) 34
D) 54

32. A3-digitnumberis subtracted by anmumber
obtained by reversing the digits-ofithe original
number. Then the difference isidivisible by

(A) 91
(B) 98
' (C) 99
D) 101

33. Salim Ali is a famous
(A) Entomologist
(B) Ornithologist
(C) Virologist
(D) Archaeologist
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34, Mr. Bose's monthly income is Rs. 16,000.
' 1
He spends 2 of his income on food. Out of the

) 5
remaining, he spends 0°0 house rent and 2 on

the education of his children. Money he saves per
month is

(A) Rs. 5,700 -

(B) Rs. 5,800

(C) Rs. 5,900

(D) Rs. 6,200

35. Who appoints the Chief Justice of the
Supreme Court of India?

(A) Prime Minister of India

(B) President of India

(C) Vice President of India

(D) Speaker of the Lok Sabha of India

36. Out of 8000 candidates, 60% were boys.If
80% of the boys and 90% of the girls passed the
examination, number of candidates failedis

(A) 1260
(B) 1270
(C) 1250
(D) 1280

37. A person went to some place at a speed of
15 km/hr and returned to original place at a speed
of 10 km/hr. The average speed of the person is

(A) 12 km/hr
(B) 13 km/hr
(C©) 12.5 km/hr
(D) 14 km/hr

38. The dockyard was found in which of the
following sites of Indus Valley Civilization?

(A) Chanhudaro
(B) Lothal

(C) Kalibangan
(D) Banawali
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39. A student secured 32% marks in an
examination and failed by 12 marks. Another.
student secured 42% marks and got 28 marks more
than the pass marks. The maximum marks of the
examination is

(A) 500
© (B) 600
| (C) 400
(D) 700 o~

40. The acid present in the lemon is
(A) Lacticacid -
(B) Oxalic acid :
(C) Citric acid B
. (D) Acetic acid o

" 41. The ratio of milk and water in'three equal
pots are in the ratios 3:1, 5:3 and 9:7 respectively.
Then the pot in which milk is more than water——

(A) Equal milk in all pots
(B) 3rd pot

(C) 2nd pot-

(D) 1stpot

42. Manishsold his watch at10% Io'ssf If hehad
sold for Rs. 54 more, he would have made 8%
profit. The selling price of thé watch.is - -

(A) Rs. 490 o

B) Rs. 350
(C) Rs.270
(D) Rs. 420

43. Whatwill be the angle between the hands of
a clock when the time is at 12—10 am.?

(A) 25°
B) 50°
() 60°
(D) 40°

Wﬁf
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44. The ratio of monthly income of two persons
is9: 7 and the ratio of monthly expenditureis4 : 3.

If-each of them manages to save Rs. 2,000 per -

month, then their monthly incomes are
(A) Rs. 18,000, Rs. 14,000
(B) Rs. 13,500, Rs. 10,500
(C) Rs. 22,500, Rs. 17,500
(D) Rs. 27,000, Rs. 21,000

45. Who is the author of the Book ‘Wings of
Fire’? Wings of Fire is the autobiography of
(A) Salman Rushdie
(B) Arundhati Roy
(C) A.P.J. Abdul Kalam
(D) Shashi Tharoor

46. In which one of the following states is
Rawatbhata Nuclear Energy Plant located?

(A} Gujarat
(B) Kerala
(C) Punjab
(D) Rajasthan

47. If x+%x-5——23——T+%=5-?- ,thenx=
Z+—of 1-
6 5 4
(&) 5
(B) 2
©) 1
(D) 3

48. The chemically inactive gas present in the
atmosphere is

(A) Oxygen

(B) Water vapour
(C) Nitrogen

(D) Argon

A-11
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" 49. A gardener has 1400 plants to arrange in
same number of rows and columns in a square
field. The minimum numberof more plantsrequired
to make such arrangement is

(A) 45
(B) 41
(C) 49
(D) 44

50, The least number that must be added to
6412 to get a perfect square is
(A) 141
(B) 129
(C) 139
(D) 149

51. Baba Amte is associated with which
movement in Indig?

(A) Save Ganga movement
(B) Save Narmada movement
(©® Chipko movement

(D) Tebhaga movement

52. A chemist has a solution which has 50%
acid and another solution which has25% acid. The

amount of two solutions required to make 10 litres
of 40% acid solution are

(A) 6 litres, 4 litres
(B) 4 litres, 6 litres
(C) 7 litres, 3 litres
(D) 3 litres, 7 litres

53. Jim Corbett National Park is situated in
(A) Uttar Pradesh
(B) Uttarakhand
(C) Madhya Pradesh
(D) Kerala

A-12
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54. Which period was known as ‘The Golden
Age’ of ancient India?

(A) Maurya Age
(B) Kushana Age
(C) Satabahana Age
(D) Gupta Age

53. Which one among the following is not
composed by Kalidasa?

(A) Abhijnana Shakuntalam.
(B) Mudrarakshasam

(C) Raghuvamsam

{D) Kumarasambhavam

56. Lionisconserved in which National Park of
India?

(A) Corbett
(B) Gir

(C) Kaziranga
(D) Jaldapara

57. Name the disease caused dueto deficiency
of iodine in our diet.

(A) Myopia
(B) Goitre
(C) Scurvy
(D) Anemia

58. Which one of the followmg is an example
of the Ferrous Metal?

(A) Copper
(B) Tin

(C) Bauxite
(D) Nickel

A-13
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59. A, B and C start a business together. In a
year they earn Rs. 29,000. If the ratio of investment
ofAandBis3:2andthatof B: Cis5: 2, then A

earns
(A) Rs. 15,000
(B) Rs. 14,000
(C) Rs. 16,000
(D) Rs. 18,000

60. Deficiency of which vitamin is responsible
for rickets in Children?

(A) Vitamin A
(B) Vitamin B
(C) Vitamin C
(D) Vitamin D

61. Which one of the following subjects is
included in the concurrent list?

(A) Trade

(B) Agriculture
{C) Banking
(DY Education

62. Who was the first Foreign Minister of Free
India?
(A) Jawaharlal Nehru
(B) Maulana Abul Kalam Azad
(C) B. R. Ambedkar
(D) Sardar Vallabhai Patel

63. Three bells toll together and then at an

. 1 2 :
intervals 35, 2-5 and 15 seconds respectively.

The bells toll again after

(A) 10 seconds
(B) 8 seconds
(C) 12 seconds
() 15 seconds

59. A, B, C <36 T ©F I | Gro O
29,000 GBI T 7| A 8 B-GF SETAR SPig e
3:2 g B € C-I9 Tl TAe 5 : 2 2, O
A TT A2

(A) 15,000 Bt
(B) 14,000 Bzl
(C) 16,000 Bt
(D) 18,000 T3t

B

60. T FeBGR Tl Rt o G zad |
(A) TeBitE A :
(B) Tobifi B
(C) fEBiRMC
(D). 6w D

61. @® ey T GRS SIS OIETFYS
Ry Twm
(A) A <ifdey
(B) ¥R
(©) afER
(D) Tl

62. T3 erared g RoewE & e
(A) TREZIE (WP
(B) GIETRISIYE Sl S
(© . =3 STy
(D) TH THSOIR ANB

63. 9o TAretig fonlB w5t T e | SiFsid

1 1 2
@12.[135 CFS, 25 CITT 933 15 TS 71

Fice | oare ¢ fals 16 Pred @ T AF
AT IS © &

(A) 10 GIES

(B) 8 CTTS

(C) 12 CIF©

(D) 15 CTTS
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64. Who is the author of the book ‘Sllcnt
Spring’?
(A) Rachel Carson
(B) Charles Darwin
(C) Adam Smith
(D) None of them

65. The length and breadth of a rectangular
areaincreased and decreased respectively by 10%.
Then the percentage of reduction/increase of the
area is

(A) 0.9%
B) 1%

© 1.1%
(D) 2.1%

1
66. A man donated 10 of his money to a

1
school, g of the remaining to a church and the

remaining money he distributed equally among
his three children. If each child gets Rs. 50,000,
then the man originally had

{A) Rs. 1,50,000

(B) Rs. 2,00,000

(C) Rs. 2,50,000

(D) Rs. 3,00,000

67. The sum of the numerator and denominator
of a fraction is 4 more than twice the numerator. If
the numerator and the denominator are increased

by 3, the fraction becomes % The fraction is

(A)

-

[
o

(B)

|°°\o|<.n

©

o

)

e

O |~ -
—

64. ‘T3 (Silent Spring) ALHT ETIF &2
(A) S T
(B) Bl TIRoRs
(C) surer g
(D) JT= G (T8 A

65. G HTSIPIT CFiga T 10 #1901 ST
T AR =Y 10 O TG | TS T T
AT (IS T NS G 7 FACE ?

(A) 0.9 *@res
(B) 1*igd

(C) 1.1
(D) 2.1 *roIH

66. «ﬂﬂﬂjﬁ?@ﬁtﬂmﬁ 1o T T W @RI
i o — Wmaﬁfﬁ@ﬁ@maa\wﬁm
mﬁ%mmmfwmmwm
T 7 | T &Ter I 50,000 BP0 #iT, OIgEe

I ST #AfRe =1
(A) 1,50,000 Bt
(B) 2,00,000 Bt
(C) 2,50,000 Bt
(D) 3,00,000 Bt

67. TSI 6 AL @I €T SRR
TR GRUTH (UG 4 @1 7 79 ¢ 90 3 I
BT 2 T Tl Sl % | otz e ==

7

(A) T
B 2
(B) 9
C 8
©) 1
7

(D) 9
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68. A steamer travels 90 km downstream at the
same time as it takes to travel 60 km upstream. If
the speed of the stream is 5 km/hr then the speed of
the steamer in still water is

(A) 20 km/hr
(B) 15 kin/hr
(C) 25 km/hr
(D) 30 km/hr

69. During which Governor G@:neral's reign
the partition of Bengal was declared in 19057
(A) Lord Curzon
(B) Lord Wellesley
(C) Lord Amherst
(D) Lord William Bentinck

70. A train passes a bridge 264 m long in
20 sec, but it takes 8 sec to cross a signal postof the
rail line. The speed of the train is

(A) 83.6 km/hr
(B) 79.2 km/hr
(C) 64 km/hr

(D) 72.8 km/hr

71. The number nearest to-100000 exactly
divisible by 2,3, 4, 5,6 and 7 is
(A) 100030
(B) 100010
(C) 100020
(D) 99960

72. A farmer grows paddy and jute in his
35 bighe of land in a ratio 4:3. He earns as profit
Rs. 2,500 per bighe from paddy and Rs. 2,800 per
bighe from jute. The ratio of profit from paddy and
jute is

(A) 25:21
B)5:4
(C) 23:22
(D) 4:5

68. 3T FBum GITed S 90 e @ T

T @ISR soﬁﬁﬁaﬁwwmnﬁ_
&irsT 5 5 = o3 B e Fowid ofe
EG|

(A) 20 &R

(B) 15 ff/ast

(©) 25 Rfrast

(D) 30 fFiras

69. SIS (TN Sodq (EAEEE IHSIE

- 1905 395t wwrew (aifie zAfkee

(A) =6 P

(B) 6 SEETAR

(C) ‘TS SRS

(D)) =76 B2ferm (5w

70. @& @7 264 Fo@ oy Il &g
20 IS TS (A G3R (TR A I
YRS 8 GRS ol T | O Gd oS =&

(A) 83.6 &=l
(B) 79.2 et
(C) 64 Rf/acst

(D) 72.8 FRefsirast

71. 100000~97 RISt @ AW 2, 3,4, 5,6
@3 7 Tiw Reren ¢t 2=
(A) 100030
(B) 100010
(C) 100020
(D) 99960

72. .4EA F7F ©fF 35 9 WRiCS 4:3 SATS
Y1 @ =I5 518 Ta | 7 7 &S fawma «1 @ «ib (U
TYF 2,500 BIF @72 2,800 BIF =1 i O 4
@ A6 Hia OF #od SaArS

(A) 25:21
(B) 5:4
(C) 23:22
(D) 4:5



73 The Information Technology Act in India
was passed in

(A) 1990
(B) 2000
(C) 2010
(D) 2005

74. World Environment Day is

!

75. If x+2+

(A) 22nd December
(B) 1stMay

(C) 6th February
(D) 5th June

=7 ,thenx=
1+

A 5
®) o
© -5

™) =

76. The salary of a person is reduced by 25%.
The percentage increase of the present salary to get
back the earlier salary is

(A) 35%
B) 25%
(C) 20%

1
(D) 335%

77. Indigo Rebellion (1859-60) took place in

(A) Bengal
(B) Andhra Pradesh
(C) Uttar Pradesh
(D) Kerala

A-17 EMRI/22

73. SRS TEAEEN GGy Al w%ﬁ{f@
iz 7t A
' (A) 1990 Fits
(B) 2000 e
(C) 2010 =
(D) 2005 Al

74. T SR T (i o 3o = e
(A) 2204 Tor9g
(B) 1T
(C) 63 Tz
(D) 538

75. I x+ 2+

=7 T, OIgE x =

1

.._+_

3 5
N 38
g?_
19
o 2
© 1
89

(D) I}

(B)

76. 95 [IET @A 25 *WIH TAE | TS
(T TS *OIH QI 2T ([ e A e
(A) 35Sl
(B) 25 *wie
(C) 20 @i

1
(D) 333 it

77. W= Remiz (1859-60) zrafes
(A) qig=E
(B) wrmam
(C) Teramm
(D) @R
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78. If Z of a number is added to g of that

1
number, the result is 15 greater than E of that

number. The number is
(A) 160
(B) 190
(C) 180
D) 170

79. A man buys postage stamp of 25 paise and
50 paise for Rs. 10. He buys 28 stamps in all.
Number of 25 paise stamp bought by him is

(A) 16
(B) 20
©) 12.
(D) 15

80. Inhuman eye the part which allows lightto -

enter into the eye is
(A) Retina
(B) Pupil
(C) Eye lens
(D) Cornea

81, The difference of the compound interest
and simple interest on certain amount at the rate of
10% for 2 years is Rs. 50. Then the amount is

(A) Rs. 6,000
(B) Rs. 5,000
~(C) Rs.7,500
(D) Rs. 4,500

82. If 3 men or 4 women can earn Rs. 480 in a

day, then the amount that 6 menand 11 women will -

earn in a day is
(A) Rs. 2,380
(B) Rs.2,320
(C) Rs. 2,280
(D) Rs.2,220

1 1
78, CGRIGA RAA - O 6 Tl 3 O
Al i) T @ G ~Aten! A O GBI

1
5 T (AT 15 SES | HLGis =

(A) 160
(B) 190
(C) 180
(D) 170

79. 9% TE 25 T @ 50 1T R 10
TR @@ | (7 1 I 287 Tehie T T
OE 25 ST AiGE T AWl &

(A) 16
(B),20
©) 12
(DY’ 15

80. WeEd GIAd @ o (B ST A
(A) c@foa at=fFs
(B) Pupil qi Sl
(C) Eye lens S (57T 15
(D) St A SeoweGe

81. &g <M bieim 10 WO JF 2 IS
e I '@ e TR S 50 B | SIEgE Bt
sifanie 2= '

(A) 6,000 1%
(B) 5,000 Bt
(C) 7,500 Gt
™ 4,500 B

82. Tfit 3 T oA W14l 4 T qfeeT e 480 Bt
W 7R O 6 O AFa ¢ 11 T SReN GHM T
i i AT :

(A) 2,380 Bigt
(B) 2,320 513
(C) 2,280 Bl
(D) 2,220 5



83. A, B, C can do a piece of work together in
15 days. B alone and C alone can do the work in
30days and 40 days respectively. A alone can dothe
work in

(A) 60 days
(B) 30days
(C) 120 days
(D) 75 days

84. Jhumpa Lahiri is a famous
' (A) Dancer

(B) Author

(C) Actress

(D) Athlete

85. In ancient India the famous Nalanda
University was founded by

(A) The Maurya Emperors
(B) The Chola Emperors
(C) The Gupta Emperors
(D) The Pallava Emperors

86. Who among the following wrote the song
‘Vande Mataram’? ‘

(A) Rabindranath Tagore

(B) Bankimchandra Chattopadhyay
(C) Abanindranath Tagore

(D) Dwarkanath Tagore

87. Tron ore mines of Mayurbhanj are located
in
(A) Odisha
(B) Gujarat
(C) Kerala
(D) Rajasthan
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83. A,B,C %@ @0 e 15 e R o163
JIEL B @R C GFt G A INFE 30 e @
40 TR o1 [ A 6% T T T oin ey

(A) 60 faer
(B) 30 W
(C) 120 =
(D) 75w

84. it =RG ZEW e [re
(A) T
B) &R
(C) Sftval
(D) e

85. bl ©Iarey Rupe e RRmeT
Bloi FRABLET

(A) G Serioa
(B) Colet Frioay
(C) g FFHa
(D) #Fa =

86. fEfeiRe Ufewm g @ aw Temw Al
5 AT ?

(A) TN DTE
(B) 3o SCBIAGE
(C) waImmId 55

(D) BFFHI g

87. WHeEH (T2 S 4 w1iFe o e,
il ==

(A) e
(B) wwaG
(C) @
(D) srerg

Please Turn Over
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88. In aschool there were 660 students and the
ratio of the number of the boys and girls was 13 : 9.
After a few days 30 girls joined the school and few
boys left the school. As a result, the ratio of the
boys and girls become 6 : 5. The number of boys
left the school is

(A) 40
(B) 50
(©) 30
(D) 60

89. Raju sells two calculators for Rs. 1,500
each. He earns a profit of 25% on one and suffers
a lose of 25% on another. The profit/loss of the
person is

(A) Rs. 100
(B) Rs. 200
(C) Rs. 300
(D) Rs. 350

90. In 1972, the population of a village was
2000. In 1982 male population was increased by
10% and female population was decreased by 6%
but there was no change of the total population.
Then the male population in the year 4972 was

(A) 730
(B) 750
(©) 720
(D) 770

91. Magbool Fida Husain was a famous Indian
(A) Singer
(B) Artist
(C) Author
(D) Journalist

92, ‘Bihu’ is the folk dance of
(A) Rajasthan
(B) Punjab
(C) West Bengal
(D) Assam

. A-20

88. T FA 660 T TIRG KA R TG 8
= LI AT 13 : 9 | gl o= 30 T w9
=R G2 A (ot o 3R g 2 SR e (S W
BT T | O T G 8 DA AR WA 6 : 5 |
ToGH BIG 62 T (T 5 W7

(A) 40
B) 50
(C) 30
. (D) 60

89. =g 7 e SR 1,500 S R
TE| G GIHOS 25 *olRH TS IFE 9IR TYHro
25 Xote e 2| ORI O s/ AR &

(A) 100 B
(B) 200 Bt
(C) 300 Si=t
(D) 350 Bl

90. 1972 A <% 2wF T 2000 T2 |
1982 G S R4 10 oA Jfa A @R
W TR 6 *ISieT ZH AW | Tt (NG EERY!
G QIS | S 1972 TG FEF e B

(A) 730
B) 750
(C) 720
(D) 770

91, 33w Rl T Toem 3ot T Sfe |

(A) TRSHE
(B) foafst
(C) FT
(D) AUz

92. ‘RE (WP G ?
(A) wfergi
(B) Mg
(C) o=
(D) SN




- 93, Loktak is a

94.

95.

(A) Mountain
(B) River
(C) Lake

(D) Desert

In which field Arjuna award is given?

(A) Foroutstanding performance in sports
and games.

(B) For social service.

(C) For brilliant achievement in science
and technology.

(D) Forbrilliant performance in literature.

‘Which one is not an ore of iron?
{A) Bauxite

(B) Hematite

(C) Magnetite

(D) Siderite

96. The six digit least number which is exactly
divisible by 215 is

(A) 100170
(B) 100180
(C) 100190
(D) 100160

97. Kathakali is the dance of which state of

India?

(A) Maharashtra
(B) Uttarakhand
(C) Odisha
(D) Kerala
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94, SR FFR 2N < T AETE T

- EMRI/22

93. EITOIF T G5 |

(A) e
(B) 7@

(©) T (@)
(D) wgf

(A) Frerm Fowgd &y |
(B) TSR & |

(C) T8 =igfers Corea S SRmeE
e |

(D) FiRve ca Pty Fiores & |

95, Sit5a BetmineRE g @ e SekT

(A) =B
(B) =Gz
(C) TISIGIZs
(D) Frrwalzs

96. (T I Puos 7 215 A Forey ¢

(A) 100170
(B) 100180
(C) 100190
(D) 100160

97. S TTo SIS @ AT 79 2

(A) =G
(B) Tame
(C) ofeHi
(D) ==
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98. Which of the following is a plant hormone?
(A) Insulin
(B) Thyroxin
(C) Qestrogen
(D) Cytokinin

99. Headquarters of the United Nations is in
(A) New York :
(B) Washington
(C) London
(D) Paris

100. 3 men and 4 boys can do a piece of work in
14 days, while 4 men and 6 boys can do the same
work in 10 days. A boy can finish the work in

(A) 140 days
(B) 130°days
(C) 150 days
(D) 120 days

A-22

98, Fraieclm wy @Rt 3 St e e
(A) Tfem
(B) Uafe-
(C) TR
(D) AZHRERA

99, wifesireas 2um o w—fEe =
(A) ez
(B) GRRBH
(©) &=
(D) “NEwT

100. 3 TREIBGR 4 G AT GED A& 14 WA (47
TS 71T | GEIIGB 4 & (I 4R 6 5 & 10 Tae
T | GETH NS TS I (<18 T 2=

(A) 140 s

B) 130

(C) 150 fts

(D) 120 =





